# An Empirical Relation between Oscillator Strengths Calculated from the Dipole Length and Dipole Velocity Formalisms in the Optical Absorption of Conjugated Molecules

Toshiaki Kakitani and Hiroko Kakitani

Department of Physics, Nagoya University, Nagoya, Japan

It is found that a ratio between the oscillator strengths of the optical absorption calculated from the dipole length formalism and those calculated from the dipole velocity formalism is almost constant for many conjugated molecules if the calculation is made using the theoretically obtained transition energy. The value of the ratio becomes very sensitive to the molecular geometry if the calculation is made using the experimentally obtained transition energy. The origin of the constancy of the ratio is discussed.

Key words: Empirical relation of the oscillator strengths  $f_1$  and  $f_2$  – Empirical and semi-empirical  $\pi$ -electron theories

## 1. Introduction

Although absorption wavelengths of many conjugated molecules have been predicted satisfactorily by the semi-empirical theory of  $\pi$ -electrons [1, 2], calculations of oscillator strength in the optical absorption were not successful. It is generally recognized that the calculated values of the oscillator strength are 1–5 times as large as the experimental values. The oscillator strength is usually calculated by either the dipole length formalism  $f_1$  or the dipole velocity formalism  $f_2$ , which are defined in the following:

$$f_1 = (2m \ \Delta E_{ba}/3\hbar^2) \cdot \left| \left\langle b \right| \sum_i \mathbf{r}_i \left| a \right\rangle \right|^2 \tag{1.1}$$

$$f_2 = (2\hbar^2/3m \ \Delta E_{ba}) \cdot \left| \left\langle b \left| \sum_i V_i \right| a \right\rangle \right|^2$$
(1.2)

where m, h and  $\Delta E_{ba}$  are the electron mass, Planck's constant and the transition

energy from the ground state  $|a\rangle$  to the excited state  $|b\rangle$ , respectively. If the electronic wavefunctions are exact, an equality  $f_1 = f_2$  should hold by virtue of an offdiagonal hypervirial theorem [3],

$$\left\langle b \left| \sum_{i} \nabla_{i} \right| a \right\rangle = -\frac{m}{\hbar^{2}} \Delta E_{ba} \left\langle b \left| \sum_{i} r_{i} \right| a \right\rangle$$
(1.3)

However, in the actual calculation,  $f_1$  becomes considerably larger than  $f_2$  in most molecules.

Chong [4] and Yue and Chong [5] investigated which is better,  $f_1$  or  $f_2$ , in order to explain the experimental values of the oscillator strengths of polyenes and  $\alpha$ ,  $\omega$ -diphenyl-polyenes by the simple molecular orbital theories. The results were that  $f_2$  agrees with the experimental values much better than  $f_1$  for the transition to the lowest excited state. The similar calculations were made by McHugh and Gouterman on polyacenes [6]. The results were also that  $f_2$  is better than  $f_1$  to explain the experimental data of the transitions to some lower excited states. It should be mentioned here that all these calculations were made by the method so called semi-empirical one in which the experimentally obtained value of  $\Delta E_{ba}$  is used in Eqs. (1.1) and (1.2).

The effect of the electron correlation on  $f_1$  and  $f_2$  was also investigated by the configuration interaction (CI) method [7], and by the many-electrons theory [8, 9]. The doubly-excited CI causes to decrease the values of  $f_1$  and  $f_2$  together [10]. Although the calculated values of  $f_1$  become considerably closer to the experimental values by taking into account electron correlation effects, satisfactory agreement between the calculation and the experiment has not yet been obtained for most molecules [11].

In this paper, we investigate the relation between the calculated values of  $f_1$  and  $f_2$ . However, we do not intend to fit the calculated values to the experimental values. No systematic studies of this problem have been done so far. We do this systematically for many conjugated molecules using the theoretically obtained transition energy in Eqs. (1.1) and (1.2), which is called the theoretical method. We compare these results with those obtained using the semi-empirical method of the transition energy. The effect of the molecular geometry is also investigated.

### 2. Method of Calculation

When the wavefunction of the excited state  $|b\rangle$  is obtained by an electron transition from an occupied molecular orbital  $\psi_j$  to an unoccupied molecular orbital  $\psi_k$ , we get

$$\left\langle b \middle| \sum_{i} \mathbf{r}_{i} \middle| a \right\rangle = \sigma_{j} \int \psi_{k}^{*} \mathbf{r} \psi_{j} d\tau$$
(2.1)

$$\left\langle b \middle| \sum_{i} \nabla_{i} \middle| a \right\rangle = \sigma_{j} \int \psi_{k}^{*} \nabla \psi_{j} d\tau$$
(2.2)

Empirical Relation between  $f_1$  and  $f_2$ 

where

$$\sigma_j = \begin{cases} \sqrt{2} & \text{if } \psi_j \text{ is occupied by two electrons,} \\ 1 & \text{if } \psi_j \text{ is occupied by one electron.} \end{cases}$$
(2.3)

When the excited state wavefunction is expressed by the one in which CI is taken, the two transition vectors become

$$\left\langle b \middle| \sum_{i} \mathbf{r}_{i} \middle| a \right\rangle = \sum_{j}^{\text{occ unocc}} \sum_{k}^{\text{occ unocc}} A_{bj \to k}^{*} \sigma_{j} \int \psi_{k}^{*} \mathbf{r} \psi_{j} \, d\tau$$
(2.4)

$$\left\langle b \middle| \sum_{i} \nabla_{i} \middle| a \right\rangle = \sum_{j}^{\text{occ unocc}} \sum_{k}^{\text{nocc}} A_{bj \to k}^{*} \sigma_{j} \int \psi_{k}^{*} \nabla \psi_{j} \, d\tau$$
(2.5)

where  $A_{bj \to k}$  is a coefficient of the configuration mixing in the excited state.

Writing the molecular orbital  $\psi_l$  as

$$\psi_l = \sum_p C_{lp} \,\chi_p \tag{2.6}$$

where  $\chi_p$  and  $C_{lp}$  are the atomic orbital centered at P and a coefficient, respectively, we obtain

$$\boldsymbol{D}_{kj} \equiv \int \psi_k^* \boldsymbol{n} \psi_j \, d\tau = \sum_p \sum_q C_{kp}^* C_{jq} \boldsymbol{T}_{pq}$$
(2.7)

$$\boldsymbol{V}_{kj} \equiv \int \boldsymbol{\psi}_{k}^{*} \nabla \boldsymbol{\psi}_{j} \, d\tau = \sum_{p} \sum_{q} C_{kp}^{*} C_{jq} \, \boldsymbol{W}_{pq} \tag{2.8}$$

where

•

$$\boldsymbol{T}_{pq} \equiv \int \chi_p^* \boldsymbol{r} \chi_q \ d\tau$$

$$=\frac{1}{2}(R_{p}+R_{q})S_{pq}+M_{pq},$$
(2.9)

$$W_{pq} \equiv \int \chi_p^* \nabla \chi_q \, d\tau = - \int \chi_q^* \nabla \chi_p \, d\tau \tag{2.10}$$

with

$$S_{pq} = \int \chi_p^* \chi_q \, d\tau \tag{2.11}$$

$$M_{pq} = \int \chi_p^* \mathbf{r}' \chi_q \, d\tau \tag{2.12}$$

In Eq. (2.9),  $R_p$  and  $R_q$  are position vectors of the atomic centers P and Q, and r' is the position vector relative to the middle point of P and Q.

When we adopt the leading terms in Eqs. (2.9) and (2.10), we obtain

$$\boldsymbol{D}_{kj} = \sum_{p} C_{kp}^* C_{jp} \boldsymbol{R}_p \tag{2.13}$$

$$V_{kj} = \sum_{p>p} \sum_{p} \delta_{p,q'} (C_{kp}^* C_{jq} - C_{kq}^* C_{jp}) W_{pq}$$
(2.14)

where q' denotes the neighboring atomic site to q. The approximation used in obtaining (2.13) and (2.14) is consistent with the usual approximation that the overlap integral  $S_{pq}(p \neq q)$  is neglected in solving the secular equation

$$|F - \varepsilon S| = 0 \tag{2.15}$$

where F is the Fock operator or the one electron Hamiltonian in the Hückel theory, and  $\varepsilon$  and S are the orbital energy and the overlap integral matrix, respectively.

The atomic orbitals are assumed as the Slater-type  $2p_z$  orbitals, whose orbital exponents  $\mu$ 's are 1.625, 1.950 and 2.275 for carbon, nitrogen and oxygen atoms, respectively [12].

Analytical formulas for  $W_{pq}$ , the two-center moment integral  $M_{pq}$  and the overlap integral  $S_{pq}$  are given by Kral[13], Suzuki *et al.* [14] and Mulliken [12], respectively.

In this paper, the molecular orbitals and the transition energies of conjugated molecules are obtained by the self-consistent HMO theory [15]. An essential part of the theory is to use a pseudoresonance integral which includes the effect of the electron–electron interaction as follows:

$$\beta_{pq}^{*} = \left\{ \beta_{pq}(R_{pq}) - \zeta(2p_{pq} - \sum_{(rs)}^{\text{neigh.}} p_{rs} | \cos \theta_{rs} | \right\} \cdot | \cos \theta_{pq} |$$
(2.16)

where  $\beta_{pq}(R_{pq})$ ,  $p_{pq}$ ,  $\theta_{pq}$  and  $\zeta$  are a function of a bond length  $R_{pq}$ , bond order, torsional angle and a constant, respectively. The summation over the bond *rs* is taken for the neighboring bonds of pq. The molecular orbital and the molecular geometry are simultaneously determined by satisfying the relation between the bond order and the bond length which is obtained from the condition of the total energy minimum. This theory was considerably improved in the parametrization [16], and was successful in predicting the molecular geometries in the ground state [16] and the excited state [17] together with the absorption wavelength [16] and the fluorescence wavelength [17] of many conjugated molecules.

## 3. Empirical Relation between $f_1$ and $f_2$

Using the approximations (2.13) and (2.14) and the improved version of the self-consistent HMO theory [16], we calculated the oscillator strengths  $f_1$  and  $f_2$  of many groups of conjugated molecules. We did this by adopting the theoretically obtained transition energy  $\Delta E_{ba}$  (theoretical method) in (1.1) and (1.2). The calculated values of  $f_1$  and  $f_2$  are listed in Table 1 together with the absorption wavelength  $\lambda$  and the difference of the direction of the two transition vectors  $\delta$  for the first allowed  $\pi$ - $\pi$ \* transition. It is found from this table that the values of

 $f_1/f_2$  are almost the same for aromatic hydrocarbons, carotenoids except for smaller ones such as ethylene and butadiene, hydrocarbons with 5- and 7-members conjugated rings except for fulvene and azulene, hetero-cyclic conjugated molecules, aromatics substituted by heteroatomic groups, cations, anions, radicals except for fluorene, and the other conjugated molecules of the group H. In Fig. 1, we illustrate the relation between  $f_1$  and  $f_2$ . It seems to be peculiar that such a simple empirical relation holds between  $f_1$  and  $f_2$  for almost all the species of conjugated molecules.

It should be also noticed in Table 1 that the value of  $\delta$  does not exceed two degrees for almost all the conjugated molecules. This means that the direction of the transition vector  $\langle b | \sum_i \mathbf{r}_i | a \rangle$  is almost parallel to that of  $\langle b | \sum_i \mathcal{V}_i | a \rangle$ .



Fig. 1. Graph of  $f_1$  vs  $f_2$  in the first allowed transition. Letters A-H denote the groups of molecules. It is seen that the plotted points nearly hit a line  $f_1 = 1.70 f_2$ 

## 4. Effects of Transition Energy and Molecular Geometry

Yue and Chong calculated  $f_1$  and  $f_2$  of polyenes by the semi-empirical method using the Hückel theory. Their calculated values of  $f_1/f_2$  were 4.07, 5.18, 6.65 and 8.20 for butadiene, hexatriene, octatetraene and decapentaene, respectively. Our present results do not agree with these values. This large discrepancy mainly comes from the different transition energies used in the two calculations. We can easily see from Eqs. (1.1) and (1.2) that the ratio  $f_1/f_2$  is dependent upon the square of the transition energy. In the HMO theory, the calculated transition energies of the polyenes are considerably smaller than the experimental values. If we calculate  $f_1/f_2$  by the theoretical method, it becomes the same value of 1.72 for the four polyenes, and this result is consistent with the present one.

The similar situation can be found in the study of the effect of the molecular

**Table 1.** The calculated values of the absorption wavelength  $\lambda$ , the oscillator strengths  $f_1$  and  $f_2$ , the ratio  $f_1/f_2$  and the difference between the directions of the two transition vectors  $\delta$  for the first allowed transition

Molecules <sup>2</sup>	$\lambda(m\mu)$	$f_1$	$f_2$	$f_1/f_2$	$\delta(\text{deg.})$
A. Aromatic hydroca	rbons (6-i	member	rings)		
naphthalene	287	0.421	0.240	1.75	0
anthracene	383	0.365	0.211	1.73	0
naphthacene	488	0.322	0.190	1.69	0
pentacene	604	0.288	0.173	1.66	0
phenanthrene	301	0.916	0.542	1.69	0
chrysene	339	0.622	0.379	1.64	0
pyrene	376	1.12	0.686	1.64	0
pervlene	445	0.898	0.579	1.55	0
1.2-benzanthracene	368	0.416	0.250	1.66	0.6
ovalene	519	0.941	0.627	1.50	0
biphenyl	252	0.801	0.512	1.56	0
B. Polvenes and caro	tenoids (h	ivdrocar	bons)		
ethylene	157	0.618	0.255	2.43	0
butadiene	219	0.954	0.457	2.09	2.0
hexatriene	273	1.25	0.640	1.95	1.6
octatetraene	318	1.52	0.805	1.88	1.2
vitamin A.	325	1.52	0.815	1.87	1.1
vitamin A.	329	1.52	0.822	1.85	0.8
R-carotene	460	2.57	1 44	1.78	0.6
<i>p</i> -carotene	473	2.62	1.48	1.77	0.5
c _carotene	456	2 53	1 42	1.79	0.7
a-carotene	458	2.55	1 43	1.79	0.6
lycopene	484	2.55	1.53	1 76	0.4
sturene	256	0 749	0.454	1.65	11
stylene	317	1 14	0.720	1.58	1.1
dinhenvlhutadiene	351	1 41	0.860	1.64	0.8
dinhenvlhexatriene	381	1.69	1.00	1.69	0.3
C Hudrocarhons wit	h 5. and	7-memhe	ers contu	aated r	inas
fulvene	292	0.068	0.030	2.27	0
agulano	457	0.137	0.050	2.23	ñ
azuiciic nontolono <sup>b</sup>	473	0.157	0.374	1 49	Ô
hentalene <sup>b</sup>	677	0.550	0.374	1.42	Ô
neptalene	464	0.151	0.477	1.00	0
bantafulvalene	404	1 31	0.015	1.50	0
neptatuivalene	705	0.061	0.624	1 54	õ
S-Indacene	358	0.768	0.024	1.57	0
nuorantinene	226	0.700	0.420	1.67	01
acenaphinylene	360	0.517	0.321	1.57	0.1
		0.505	0.575	1.57	Ū
D. Hetero-cyclic con	jugatea n	O ASS	0.204	1 5 5	۵
pyridine	220	0,450	0.294	1.55	0
pyrimidine	223	0.495	0.290	1.05	0
quinoline	288	0.598	0.229	1.74	23
inymine	2/0	0.333	0.510	1.09	17
cytosine	287	0.276	0.194	1.42	1.7
adenine	280	0.343	0.339	1.21	0.8
guanine	315	0.44/	0.312	1.45	0.5
purine	269	0.338	0.390	1.41	0.5
acridine	387	0.348	0.204	1./1	0
phenazine	397	0.307	0.180	1./1	0
9-aminoacridine	391	0.450	0.291	1.55	U

Table 1-continued

Molecules <sup>a</sup>	λ(mμ)	$f_1$	$f_2$	$f_1/f_2$	$\delta$ (deg.)		
lumiflavine	443	0.646	0.441	1.46	0.3		
furan	218	0.297	0.186	1.60	0		
imidazole	208	0.308	0.200	1.54	0		
pyrrole	212	0.352	0.212	1.66	0		
indole	266	0.480	0.307	1.56	0		
E. Aromatics substituted by heteroatomic groups							
phenol	228	0.437	0.262	1.67	0		
aniline	255	0.338	0.206	1.64	0		
benzoic acid	260	0.638	0.418	1.53	0.3		
benzaldehyde	266	0.437	0.262	1.67	0		
1-naphthol	300	0.436	0.257	1.70	0		
1-naphthoic acid	328	0.493	0.307	1.61	0		
1-naphthaldehyde	335	0.517	0.317	1.63	0.1		
1-naphthylamine	327	0.433	0.256	1.69	0		
2-naphthol	294	0.420	0.248	1.69	1.4		
2-naphthoic acid	317	0.521	0.324	1.61	3.1		
2-naphthaldehyde	323	0.415	0.263	1.58	1.5		
2-naphthylamine	320	0.424	0.262	1.80	1.8		
F. Other heterconjugated molecules							
p-benzoquinone	325	1.13	0.646	1.76	0		
p-naphthoquinone	345	0.519	0.343	1.51	0		
tropolone	347	0.689	0.423	1.63	0.5		
retinal,	382	1.57	0.877	1.79	0.5		
11-cis retinal.	347	1.10	0.579	1.89	0.7		
retinal,	385	1.57	0.878	1.79	0.6		
R,SB	365	1.71	0.941	1.82	0.9		
R <sub>2</sub> SB	368	1.72	0.948	1.81	0.8		
canthaxanthin	464	2.38	1.35	1.76	0.3		
benzalazine	331	1.27	0.813	1.56	1.8		
cinnamalazine	385	1.75	1.07	1.64	0.2		
peptide	195	0.458	0.266	1.72	0		
formic acid	172	0.428	0.252	1.70	1.0		
urea	196	0.364	0.244	1.49	0		
G. Cations and anion	\$						
acridinylium	412	0.260	0.152	1.71	0		
lumiflavine cation	368	0.736	0.507	1.45	0.2		
phenate	267	0.259	0.158	1.64	0		
benzoate	279	0.202	0.133	1.52	0		
tropolonate	418	0.344	0.223	1.54	0		
PR,SB	442	1.43	0.807	1.77	0.4		
PR <sub>2</sub> SB	447	1.41	0.798	1.77	0.3		
H. Radicals							
benzil rad.	392	0.075	0.045	1.67	0		
naphthyl rad.	476	0.227	0.129	1.76	0		
pentatrienyl rad.	355	0.491	0.265	1.85	0		
indene	363	0.169	0.101	1.69	0.9		
fluorene	416	0.050	0.011	4.55	0.9		

<sup>a</sup> For the polyenes and the carotenoids, all-*trans* form is assumed except for 11-*cis* retinal<sub>1</sub>. R<sub>1</sub>SB, PR<sub>1</sub>SB, R<sub>2</sub>SB and PR<sub>2</sub>SB denote retinal<sub>1</sub> Schiff-base, protonated retinal<sub>1</sub> Schiff-base, retinal<sub>2</sub> Schiff-base and protonated retinal<sub>2</sub> Schiff-base, respectively.

<sup>b</sup> The transition to the lowest excited state is forbidden.

geometry by the self-consistent HMO theory. When the calculation was made by the semi-empirical method, the value of  $f_1/f_2$  was affected considerably by the variation of the molecular geometry. On the contrary, when the calculation was made by the theoretical method, it was little affected.

As a conclusion, the near constancy of the values of  $f_1/f_2$  for many conjugated molecules seems to hold only when we use the electronic wavefunction and the transition energy both of which are obtained by solving a model Hamiltonian for a given molecular geometry.

#### 5. Discussion

In this paper, it was shown that an approximate constancy holds in the calculated values of  $f_1/f_2$  among many conjugated molecules if the theoretically obtained transition energy was used.

In the following, we try to search the physical meaning of the constant value of  $f_1/f_2$  under the hypothesis that the  $\pi$ -electron Hamiltonian is expressed by the perfectly independent particle model as given by the self-consistent HMO theory. Furthermore, we assume that the  $\pi$ -electron has an effective mass  $m^*$ . This is considered to be the effect of the renormalization due to the  $\pi$ - $\pi$  interaction,  $\sigma$ - $\pi$  interaction, electron-vibration interaction and so on. Then, the oscillator strengths are written as

$$f_1^* = (2m^* \Delta E_{ba}/3\hbar^2) \cdot \left| \left\langle b \right| \sum_i r_i \left| a \right\rangle \right|^2$$
(5.1)

$$f_2^* = (2\hbar^2/3m^*\Delta E_{ba}) \cdot \left| \left\langle b \middle| \sum_i \nabla_i \middle| a \right\rangle \right|^2$$
(5.2)

and then,

$$f_1^*/f_2^* = (m^*/m)^2 (f_1/f_2)$$
(5.3)

where  $f_1$  and  $f_2$  are the ones defined in (1.1) and (1.2).

Now, we assume our wavefunctions are exact for our  $\pi$ -electron Hamiltonian. Then,  $f_1^* = f_2^*$  should hold. From (5.3), we get

$$m^*/m = \sqrt{f_2/f_1}$$
 (5.4)

When we put  $f_1/f_2 = 1.7$ , we obtain  $m^* = 0.75m$ . This result means that if the  $\pi$ -electron Hamiltonian is expressed by the independent particle model, the effective mass of the  $\pi$ -electron should be a little smaller than m. In this case, the theoretical oscillator strength is expressed by  $f_1$  and  $f_2$  as follows

$$f_1^* = f_2^* = \sqrt{f_1 f_2} \tag{5.5}$$

Empirical Relation between  $f_1$  and  $f_2$ 

Eq. (5.5) is the same as given by Hansen intuitively [10]. The idea of the effective mass is, of course, one of possibilities to analyze the origin of the constant value of  $f_1/f_2$ . The effect of the electron correlation on the value of  $f_1/f_2$  is also worth studying. This is a future problem.

We also calculated  $f_1/f_2$  of polyenes by the PPP theory with and without CI. As a result, it was found that the approximate constancy also holds for the calculated values of  $f_1/f_2$ , which are a little larger than the present ones, and that the effect of the singly-excited CI upon the value of  $f_1/f_2$  is small.

In this paper, we have not compared the calculated values with the experimental values. Our theoretical method is primitive and then the accuracy of the calculated values is not good for many molecules compared with other detailed calculations. However, some results obtained by our systematic calculations for many conjugated molecules would hold true even in the detailed calculations with the  $\pi$ -electron approximation.

Acknowledgements. The authors wish to express their sincere thanks to Professor S. Yomosa for much valuable discussions in the course of this study and for his reading the manuscript. A part of the present work was supported by the Grant-in-Aid for Cooperative Scientific Research from the Ministry of Education. Numerical calculations were carried out on FACOM 230–75 Computation Center of Nagoya University.

#### References

- 1. Pariser, R., Parr, R. G.: J. Chem. Phys. 21, 446 (1953); 21, 767 (1953)
- 2. Pople, J. A.: Trans. Faraday Soc. 49, 1375 (1953)
- 3. Chen, J. C. Y.: J. Chem. Phys. 40, 615 (1964)
- 4. Chong, D. P.: Mol. Phys. 14, 275 (1968)
- 5. Yue, C. P., Chong, D. P.: Mol. Phys. 14, 487 (1968)
- 6. McHugh, A. J., Gouterman, M.: Theoret. Chim. Acta (Berl.) 13, 249 (1969)
- 7. Wolfsberg, M.: J. Chem. Phys. 23, 793 (1955)
- 8. Paglia, S. R. La, Sinanoğlu, O.: J. Chem. Phys. 44, 1888 (1966)
- 9. Paglia, S. R. La: Theoret. Chim. Acta (Berl.) 8, 185 (1967)
- 10. Hansen, A. E.: Mol. Phys. 13, 425 (1967)
- 11. Benard, M., Julg, A.: Intern. Quantum Chem. 8, 945 (1973)
- 12. Mulliken, R. S., Rieke, C. A., Orloff, D., Orloff, H.: J. Chem. Phys. 17, 1248 (1949)
- 13. Kral, M.: Chem. Commun. 35, 1939 (1970)
- 14. Suzuki, M., Nihei, Y., Kamada, H.: Bull. Chem. Soc. Japan 42, 323 (1969)
- 15. Kakitani, T.: Prog. Theoret. Phys. 52, 1721 (1974)
- 16. Kakitani, T., Kakitani, H.: Theoret. Chim. Acta (Berl.), 46, 259 (1977)
- 17. Kakitani, T., Kakitani, H.: J. Phys. Soc. Japan 42, 1287 (1977)

Received July 20, 1977/November 4, 1977